CHMI51 Quiz #7b 25Pts Fall 2007 Name: K Q}

SHOW ALL WORK TO RECEIVE CREDIT.

1. (5 Pts) Given the AH: values in kJ/mole: NH;(g) -45.9, NO(g) = 90.3, HyO(g) -241.8, calculate the
standard enthalpy change for the following reaction:

4NHs(g) + 50x(g) — 4NO(g) + 6H,0O(g)
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2.(5Pts)  CeHpOs(s) + 60,(g) — 6CO,(g) + 6H0(g) AH=-2803 AT

Calculate the value of AH if 85.9 g of H,O(g) are produced.
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3. (10 Pts) Calculate the value of AH for the reaction:

CH4(g) +NHj(g) — HCN(g) + 3Hx(g)
Use the following reactions:

(a) Hy(g) + 2C(graphite) + Ny(g) — 2HCN(g) AH =270.3kJ

(b) Na(g) + 3Ha(g) — 2NHs(g) AH = -98.8 kJ
(c) C(graphite) + 2H,(g) — CHu(g) AH =-74.9kJ
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4. (5 Pts) Given the reaction: 2NO(g) + Oz(g) — 2NO(g) AH=-114kJ

Calculate the enthalpy change per gram of NO.
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